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For each guesiion from 1 to 28, four apfions are given Ore of them is the corect answer.
Make vour choice {1, 2. 3 or 4), Shade your answer on the Oplics! Answer Sheet.

{86 marks)
1. The diagram shows how some things are grouped,
Things
!
[
P Q
z ]
arit chair
Cow oy car
apple tree cotton wool
What is P and (7
P q
{1} cannot grow ' can grow
(2} Earn reproduce cannot reproduce
- (3) can five without air cannot five without air
&) cannot respond to changes can respond to changes

2. Mrs Lee showed her students a green leaf which she found in the schgol eco-garden
They observed somes brown spats on the underside of the leal, as shown.

brown spots

Which of the following conclusion(s) can be made abotst the plant that the green leafis
from?

A it does not bear fuils,
B8 it reproduces by sseds,
c it can make its own food.

{1y Conly

{2y AandConly
{3y AsndBonly
{4y BandC only
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Which of the following stalements are trug sbout bacteria and yeast?

Both feed on ether fiving things.

Both can only be seen undear a micregcops.
Baclera reproduce by speores but yeast does not.
Yeast is useful to us but 3l bacteria is harpfulio us.

Aand Bonly
Cand D only
A, BandD only
B. Cand D only

The diagram shows a disposable face mask.

‘What property must the material of the ear loop have sa that it can be wom

BTOUNG our £ars?

1) fiexibility

{8y waterproof

{3y ‘rapsparency

{4} ability {o float on water

Which statement(s) about the human digestive system is/are correct?

e R e B I

Saliva haips 1o digest food.

Pigestad food is abserbed at the stomach,

No digestive juice is produced in the guliet.
The large intestine does not absoch any water.

Bonly
D only
A and Conly
B and D only
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8. Lucien ciassified four solid blocks made of materials ¥, L. M and N as shown

i
Materials i

{

Can light pass through it?

/V/ . RO

Does & float on water? Does & floal on water?
¥es \!__ ARG yes no
K I L M M

Which matenal is clear giass?

m K
@ t
3 M
4 N

7. Four students made some staiemends about @ sysiem,

Systems are Tound in all
non-living things.

A plastic hag is a system
singe it can be uséd to
gontain things.

A system cannct carry out s
funictions well if one part of
the system is missing.

Clur body organs take ¢
break when we are sleaping. |

Lily
Who made a correct statement?
{1 Jerry
{2} Karen
{3 Ly
4} Max
ACSE (Junior) P4 SA1 2021
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£ Which of the Tollowing isfara not spurce(s) of ight?

{1}
)
3)
4

A B
c : 5 — Féj
;! “
Moen Lit candie
Benly
Band only
A and D only

A, Cand D only

8 Thepictures show two animails.

What is the similarily between them?

{1y

rs
3
)

They Jive in water only.

They reproduce by laying eggs.

Théy breathe through moist skin.

They have scales as thelr outer hody covering.

ACE {Junicr] P4 SAT 2021
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0. The diagram shows e human digestive syster.

Which of the following describes the funclions of the paris X and Y7

(1} .

2)

(3}

@ |

X

Y

Digested foad is absorbed into the

blondstream

Water from undigested focd is
absorbed here

Food is broken dowrn into simpler
subsiances

Undigested food is absorbed into the
bloodsiream

Digested food is absorbed inte the
Blotdstream

Undigested food is stored here before

it is passed out of thé body

Foud Is broker: down itd simpler
substances

Digestion is completed hare
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1.

Study the flowchart.
DBoes It abse ibr -
Piant parts es a::g b wa @
== minerat saits? '

Does it support
the plant?

< Does it make food for
. heplant?

Which of the following represents plant parts A, Band C7

M
(2
3}
4)

A B c
stem root _ leaf
stem root | Tiower

7 rodt stem - ruit '
oot stem T teaf
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Study the classifization chart

Blant

Floweting

|

Non-fiowering

_.!

% i i |
; Has strong | Has weak ; | Hae strong Has weak
; gtem E stem | E stem stem
| L L —
P a | R i s
L L2

Which greup does the plant shown belong 107

(1)
(2}
(3)
{4

I B

stippart

www.testpapersfree.com

BP~83



13.

14,

15.

The diagram shows the tiny openings on a leal.

tiny openings

What is the tunction of these tiny openings?

4
()
©
(4

To store fond

To make food

To take in and give oul gases

Ter ahsorh water and minsrsl salls

Harris observed animals O .and R over a period of time and recorded his observations

a5 shown,
___Gbservations' TAnimal Q | Animal R
ithas fourstagesinitstifecycle, ' Yes No
The young resembles the adult. No _HNo
The eggs are jaid in water, i No | Yes

irich one of the following correct represents animals Q3 and R?

Animel@ | AnimalR
{1 - Frog Mosausito
@ | ‘Mosquito Cockroach
@ Beetic Frog
@y | Cockroach ' Beetle

Wnen does a young plant become an adulf plant?

()

2

3
4

When the plant develops fiower

When the roots of the plant grow
When the shoot of the plant grows
When the leaves start making food for the plant
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18

17,

The dizgram represents the different stages, A, B, C and D, of a butterdly's Hfe cycle.

s
: }
t a H
f |

| S——

%
A

10

e

]

™~ ¢ L7

The tutterfly is able to reproduce at stage L.
t which stage of §s #fe cycie is the bulterfly considersd a pesito farmers?

A
2 B
# C
4) D

Harnah chserved the young of animal X in a container for five weeks. She recorded
the weekly mass of foed consumed by animal X in the table.

Week

Mess of food consumed
per week (g}

1

112

128

5]

3

| Wk

124

From her observations, Hanneh made the following conciusions about animal X

A it died inweesk 3.
B i can reproduce inweek 5,

€ Itis developing in its pupal case in weeks 1 and 2.

Which of the following conclusion{s) isfare true?

(13 Aonly
(2} Bonly
{3} AandConly
(4} BandConly
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48, The graph shows the numbsr of days in each stage of the life cycle of animal Z.

A
20
18
18
14
12
10

Kumber
of days

L]

Ege Mymph Ma!erﬁ.\'dmi Female Aduit

Sarmuel made the following conclusions about animat 2

A ithasa three-stage life cycle.

8  Rthatches two days after the egg is laid,

c 1t spends most number of days as-an adult.

D 1t becames an adult 18 days afler the egy halches,

Based on the graph, which statement(s) about animal 7 isfare corract?
(1} Aonly

{2} AandD.only

i3y BandlConly

) B CandDonly

18.  Which of the foillowing is 2n example of matter?

{1y Light
{2  Sound
{31 Smoke
t4) Shadow
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20.

21,

The diagrams show the different steges of growth of a bear plant.

&0

»
4]

Which three diagrams show the correct order of the seed germinating inlo 2 young
plant?

(1} A>D>C
() B>A>D
(3) ADEDC
(8) E>BIA

Shugin placed four identicat seads into four identical containers, A, B, Cand D. She
provided different conditions for each of the coniginers as shown in the lable,

’L;/_, — container
seed !

K T 50H
J
Container i Amount of water given Lecation
: daily (mf)
A ! 5  Inafreezer
B : a Nexi to a window
C 10 Next to a window
D 5 ’ In the cupboard

Which bwo confainers should she use lo find out if warmth is needed for germination?
{1} AasandBonly
{2) AandDonly
{3} BangConly
(4) Cand D only
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22 The diagram shows & sealed metal box of volume 120 em®. It contains 70 em? of ofl

13

and 50 em®of gis.

5om® . _ ]
of air

o e e e e e i R S S,

|~
70 em’ o~ mmmmmmmm—m——— N

e e e s e g e i g i e i e

of gl et

feret o e v v, e i i ok bt e e o e

B

metal box

Mr Ta#i then added 30 o™ -of off and pumpsd 30 om® of airinfo the metal bex,

What is the final volume of ol and air in the metai box?

Volume of ofl {c) Vilume of @ir (G} -
) 74 B0
@ | 100 80
{3) 100 50
@ 100 W

23, The diggram shows how the shadow of ghiect X is fermed.

forch

can a smaliersshadow be formed?

&
2
&)
4)

Move object X nearer the torch.

Move the torch nearer to object X,

Move otject X nearer to the screen,

Muve the screenfurther sway from object X
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24, The l2ble shows the property of three matler. J, Kand L. A fick{v") shows thal the

matler has the properiy.
- Characteristics ]
Matter | Has an indefinlte Can ke !
| _shape compressed |
4 v .
. K v v
L
Whatare J, Kand L7
| J | K L
{1} 1 sokd ' ' gas figuid
2 fiquid soiid gas
{3} gas ~ liquid sofig
%) Tiquid gas sofid

26 Denise fried to form different shadows of object A by placing object A betweenatorchand a
screen.

SCreen

N

chject A

torch \E\

Which of ihs following shadows could net be formad on the soreen?

{1 _ (2}

{3 (4)
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27.

15

Benjamin compared the mass of four objects, P, Q. R and 8, by placing two objects al
& time on 2 balance as shown.

Banjamin made the following conchisions:

A

B
c
D

7 has the greatest mass.

S has a smaller mass than P

Q) hias a smaller mass than 8.

The total mass of P8nd R is greater than Q.

Which of the following conclusion(s) is/are true?

{n
{2
£}
{4)

A only

B and C only

G and D only
A, Band D only

Leonard left ancrange on the kitchen table. A weeklater, he cbserved mould growing

gnit,

Which is the best method to decrease the chances of mould growing on the orange?

(1)
(@)
(3
{4)

Stared the orange in a container.

Kept the orange in the refrigerator.
Flacad the orange in the cupboard.
Coversd the crange with 2 food natling.
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The diagrams shows Jerry playing soccer during the day.

o N

Which of the following correctly shows how Jerry Is able to see the scecer ball?

0 i @

{3 - {4

End of Booidet A
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28 |

For guestions 28 (o 41, wite your answers in this bookiet,
The number of marks available is shown in brackeis | | at the end of each question or part
’ {44 marks}

gueshon.
29. {8} The diagram shows a human organ system. Label the parts of this system by
fillirig i the boxes provided. [13

{&

(b} Identify the organ system and stale fis function.

Organ system:

Function:

30. Sanjay observed a seediing growing.

seed legves

He placed the seediing in 2 plastic cup, walered it daily and placed it next to a
window. Hea then recorded the height of the seeding over seven days as shown,

‘Mass of seedjeaves (gl | 5 | 5 | 3 i
{a) WWhat happened (¢ the mass of the seed leaves durng the seven gays?
2]

Explain why.

b} Ohrday 8, Sani’ay moved the seediing info a dark cupboard, Prediet what would
happen to the seediing after ancther week. Explain why. 43}

(G on to the next'pags)
SCORE | 4

8
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31

Study the §ife cycles of the beetle and the cockroach,

n VM-‘“F ) ‘ - .
(g _

ey case with
many £ggs

ot 0 08 s 8 b1

. Litecyclecibeetle  Life cycle of cockroach

(a) State one similarity between their Hie cycles. i
(b} State ona difference between their life cycles. 1

(¢} Explainwhy both the adult beetle and adult sockroach lay many eggs al atime. {1

{Go on to the next page)
SCORE '
3
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4
32, Studythe slassfication chan, _
Agnirmals
|
| |
1 " £ > 1
E % } F
. f -
I T
f
[ ! E o | |
G E H #ve m owater | ;M ve onland !
_? :
A P Ve
daiphin
ses; : iéﬁr‘tr}'fse whale
{a) Suggest sultable sub-headings for £ and F based on the animals’
charsclernistics. 11
E:
F

{h}  The pichyres show two animais!

grasshopper ant

iy Based on the classification chast, which group, G or H, would you classify
the grasshopper in? Give a reason for your answer, (1

{iij Statea simiiarity in the physical characteristic of the grasshopper and ant.  {1]

(Go onto the next page)
SCORE '
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Lanry placed some bacteria © on 2 plate. He added thing R to the plate as shown
and observed what happened to bacteria O under the microscope.

- thing R

bacleria Q bacteria & bacteria Q

(a) Which characteristic of living things did Larry observe about bacteria Q7 4

() Larry wanied to find out how guickly bacteda Q reproduces at different
temparatores. He prepared four plates, A, B, C and D, with the same amount
of bacteria Q. Use the results shown to answer {iyand [ii}.

) S Amount of bacteria Q (unit]
P pish | Temperature [°C) At the start of e '
- experiment 24 rours iater
A 5 1 220
8 30 iR N 170
C 35 1 ' 120
LE I 40 1 90,

(i Whatis the relafionship between temperature and how guickly basteria Q
reproduces? ]

(i Bacteria Q which can befound on food, can cause ingsses when present
ina large armount. Suggest why i is not good to leave food outfor toolong
at a room temperature of 25°C. 1]

{Go on tathe next page}
SCORE | et
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24,

Seow Wei set up an experiment 2s shown using ihree materials, X, Y and Z, of the

same thickness.

COMEINET WD o

100 arm® of waler

material

wotitden block

b

L L

-y

He piaced the same container with 100 cm® of waler on each material and measured
d, which is the distance betweeyn the highest and lowest points of the materials.

His resulis are shown in the graph.

distarice o
{em)
ol e maierial
X ¥ Fd
{8} Siate the property of malerials that Seow Wei is lesting. {1l

(o} ‘What can Seow Wei conciude about the propery of material Z based anthe (1]

graph?

{2} Materials Y and 7 are sither rubber or ceramic. Malch the materials by filling in

the table with Y’ and 2.

[

Material

rubber

CEramic

(«} Seow Wai repeated the experiment with 200 o of water instead. State whal
will happen to the distance d recorded for all the materials. !

www.testpapersfree.com
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SCORE i
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38,

Yvette wantad 1o find out if 2 piant takes in wafer using s roots She preparad the

plant

stopper

- peaker of water

She recorded the amount of water in the beaker at the start and at the end of the
gxperment in the table.

Time T Amour of water in the beaker (mi}
At7 am . 250 ]
A7 pm B 180 '
{#) Explzinwhy the amount of water in the beaker decreased. 4

{b} Based on the aim of her experiment, which set-up should Yvetle choose 1o
compare with Set-up A 1or her expefiment? m

Tigk {~") in the bax provided.

fe) State another function of the voots.of a plant. 1

{Go untothe next page)
SCORE '

.3.
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38 Yaseen wented io drink bubble tea. He powred a packet of fea into a cup as shown.

. cup
pachet of iga

{3} Using the propedy of matter, explain why the tea can be poured intc the cup. 4

(b} Yaseen then added some peatls info the cup of {ea to make the bubble tes. He
ohseived that the tea level in the cup increased,

pEarns /’gm
—\ tea lavel
” increased

Lising the property of matter, explain why the tea level in the cup increased, 1

{£) Theleain the cup was poursd into & measwuring cylinder as shovwn, What is the
volume of tea? _ {1]

Yolume of tea = i

{Bo on to the next page)
SCORE
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37,  The diagiem shows three identical beakers, A, B and C containing different matter
in {he solid state.

begker B begker ©

(a) Edgar poured some water into each beaker {o fll up the bezker 1o the brim,

Order bezkers A, B and T 5y writing the letters In the boxes provided, starting
from $he beaker which will need the least amount of water tofill itup tothe biim. {1}

Deaker e SRRET ——p beaiﬂ'ef:

Ieast waler needed miost waler needed

{b) Ifthe plasticine in beaker B was re-shaped inte many smaller cubas, would the
amount of water needed to fill the beaker ¢ the brim be more, less orihe sarme
as before the plasticing was re-shaped? Explain your answer. {f]

fe) Edger had three containers, P, Q dnd R, with volumes of 100-em?, 80 cm* and
B0 £ respectively as shown.: He was able to fill all the containers with 100
©m? of matter Z.

{)  Wnatls the state of matter Z? [

i)  State one property of matter Z. {1]

{Go on to the next page)
SCORE '

4
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38 Yang Zhou conducted an expenimen to find owt how different temperatures affect the
germination of seeds. He preparad thres different sel-Uns a5 shown.

sasds

beaker
/ AN
| / PN f/ é
Lﬁg_{*}ﬁjmhﬁj {mﬁa}c}mﬁm : et S 3
Ml [ ;,x:m:mmf’
Tl wet cotten wool —
Bet-up A Setip B Sef-up &
placed in a refrigevator piaced on a Kichen shelf placed in an sir-condiienad
(4°0) {25°C) room {(18°C)
{a) Tick{~} the variable that Yang Zhou should change to test his gim; {1

Variables Changse

Type of seeds

Number of seeds

Typeoibeaker

Amount of water

Location of set-up

{b) Which location, the freezer, kitchen shelf or air-conditioned room, Wil the seed
germinate firs!? Explain your answer, AN

{c} Yang Zhou decided to use set-upe B and C to find out if seeds need waler to
germinate.

What change{s} should he make to set-ups B and C to achieve his new aim?  {2]

{Go on 1o the next page)
SCORE 1
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30 Jeseica preparsd the setwup as shown te find out the degree of transparency of materials
X, YandZ

light sensor attached
) io data jogger
torch 4 material

She carried out the experiment in the Science lab, using identical forches and data
loggers, and {asted out each matenal before recording the results in the table.

T Materfals Amount of light detected by
o L e light sensor {units)
X _ 343
Y g

o z 820 R

{d) State two other varlables she should keep the same o ensure that her
experiment is fair, 11

(5} Based on the resiits, order materiats X, Y and Z, starting with the matertal that

alows most light to pass through. 4!
> [
Muostight

& Which material, X, Y or Z, is most uitable for making the door in the school

toilet? Explain why. i
{Go on to the next page)
SCORE 4
3
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40, The diagran shows the layout of the stage for a ghadow performance,

P \
{ ¥ e positions of

PRl N pariormers

{ x Y= -/ students

L A

N~
ight source sCreen
{a} Explain how shadows are formed. {]

Performers A, B and £ wefe at positions X, ¥ and Z. They were of the same height, The
studenis saw the shadow of each of {he performers as shown.

shadow of
performer B

shadow of
"’”performsr C

shadow of
performer A ™|

{Gaon fo the nelkt page}
SCORE
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it

{d}

13
At which pusitions, X, Y or Z, were performars A srnd C standing at? H|
Parformer A
Perioimer C:

Without moving the perfformers, suggest what can be done fo incresse the size
of their shadows. M

What is the property of the material of the screen thal allows the students 1o
see the performance?
1

41, Mpsqguitoes can be harmful io humans.

{2}

Diraw the iife cycle of & mosquilo in the box provided. Label the stages clearly,  [1]
{20 not draw the animal}

{Go on to the next page)
SCORE | ’
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Alsyah decided to.investigate on mosquitoes. She recorded the average amourt of rainfall
from August to December in the table.

Monoth | August | September | October | November | December |

Average amount _ ' N -
of rainfall Gnm) | 0 oo 78 220 253

She also pintted a bar graph on the number of mosquitoss found from August o December
&g shown.

MNumber of mosouitoes

4

thll

August  September  October  November December

fp)  Based on the {able and graph, how dogs the amount of rainfall affect the
number of mosquitoes? {11

ey  itwas obsernved that the nimbef of mosauitoss was the least in October when
the average rainfall was the lnast Explsinwhy this Is so i3]

{d) Adsyailis house has a pond with aquatic plants. She noticed that there were
many mosqulto larvae in her pond in November and December.

Suggest how Alsyah can get rid of the mosquite larvae without hamming the
porud's enviropment, 1

End of Paper

SCORE
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SCHOOL ANGLO CHINESE SCHOOL (JUNIOR)
LEVEL PRIMARY 4

SUBJECT SCIENCE

TERM SA1

BOOKLET A

1} windpipe ii) nose

Organ system: respiratory system

Function: To allow the exchange of gases between the human body and
the surroundings.

Q30

Mass of the seed leaves decreases. The seedling gets food from the seed
leaves to grow.

The seedling will die. The seedling had no more stored food and the true
leaves has no light to make food. Hence, the seedling would die.

Q31

Both lay eggs

The cockroach has a three-staged life cycle while the beetle has a four
staged life cycle.

To ensure that some of the eggs will hatch into young even if predators
ate some eggs.

Q32

a)

b)

E: Lay eggs
F: Give birth to young alive

1) Group H, it lives on land
ii) Both have six legs

Q33

a)
b)

Living things respond to changes in the surroundings.

i} As the temperature of the surroundings increases, the amount of
bacteria 24 hours later decreases.

ii)} There is most amount of bacteria at 25°C

Q34

)
b)
)

d)

Flexibility

Material Z is the most flexible
Rubber: Z

Ceramic: Y

It would increase

135

a)

The roots absorbed the water in the beaker.
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b) -~
Q36 a) Tea has no definite shape
b) The pearls occupied space in the cup.
¢) 320ml
Q37 a) B---A---C
b) The same as before the plasticine was re-shaped.
Plasticine has a definite volume.
c) i) Gas
ii) Gas can be compressed.
Q38 a) Location of setup
b) The kitchen shelf as it has the highest temperature.
¢) Place set-up C on the kitch shelf 25°C
Q39 a) The distance between the torch and the material must remain the same.
The distance between the datalogger and the torch must remain the same.
b) Z---Xe--Y
¢} Material Y. it allows no light to pass through, giving the user more
privacy.
Q40 a} Shadows are formed when light is blocked by an opaque or translucent
object.
b) Performer A; position Z
Performer C: position X
¢) Move the screen further from the performers.
d) Allow some light to pass though
Q41 a)
ﬁ Egg
Adulit Larvae
L Pupa J
b} Asthe amount of rain increases, the amount of mosquito increases.
c) There will be least amount of stagnant water for the eggs to be land.
d} By instatling fountain.
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